30 Motor

Page 35/94



30 Motor

POS
2
18
42
39
41
5
16
40
23
24
26
31
22
28
0
19
36
25
9
27
21
7
17
4
37
33
11
10
38
30
35
34
8

Article no.
6.401-253.0
5.061-186.0
6.649-384.0
6.632-356.0
5.064-226.0
5.064-459.0
7.306-041.0
2.885-054.0
7.373-022.0
6.390-320.0
5.443-224.0
5.061-319.0
5.427-415.0
5.427-432.0
4.623-923.0
5.802-288.0
5.802-261.0
5.310-061.0
6.362-028.0
6.362-078.0
6.362-579.0
6.362-722.0
7.318-035.0
7.318-111.0
6.641-270.0
5.365-302.0
7.367-009.0
5.767-005.0
7.303-106.0
7.303-086.0
7.303-086.0
6.303-153.0
5.411-100.0

Description

Ball bearing 6305-2Z

Bearing cover B

Cable 2x0,35 350mm

Contactor LC1-D18 B7

Cover electric box

Cover grey

Cylinder head screw M8x20 -8.8-A2E ISO
Frame circuit board complete

Hose clip A-16-27x9 -W2-2 DIN3017
Hose DN 16

Hose stem

Housing electric box

Manifold

Manifold

Motor complete only for replacement
Mounting part

Mounting part

Nut R 3/4"

O-Ring seal 11x2,2 NBR 70

O-Ring seal 13,3x2,4

O-Ring seal 17,5 X 3,5

O-Ring seal 28,0 X 3,0

Parallel key 8x7x25 -C45R DIN 6885-1
Parallel key A 6x6x36 -C45R DIN 6885-1
Plug

Profile gasket

Radial shaft seal ring A35x52x7-NBR DIN
Rubber buffer

Screw 4x12 -10.9-R2R (IN6RD)

Screw 5x30 -10.9-R2R (K-In6Rd)
Screw 5x30 -10.9-R2R (K-In6Rd)
Screw M5x15-ST-R2R (IN6RD)

Screw plug

Quantity

1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
4.000
1.000
1.000
1.000
2.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
4.000
1.000
1.000
2.000
1.000
1.000
1.000
4.000
2.000
2.000
8.000
3.000
1.000

Page 36 /94

Unit
ST
ST
ST
ST
ST
ST
ST
ST
ST

ZST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

Foot note text

TO ORDER AS CUT GOODS



30 Motor

POS
1

20
29
6

12
32
3

15
14
13

Article no.
6.303-515.0

5.110-341.0
6.414-141.0
4.070-904.0
6.401-225.3
5.263-086.0
6.343-010.0
7.312-159.0
5.115-565.0
5.120-402.0

Description

Self-tapping screw M6x25
Sleeve

Strainer

Tank only for replacement
Taper roller bearing 41
Tensioning part

Tolerance ring 62x10
Toothed lock washer A8,4-FST-PH DIN 679
Washer

Wobble plate

Quantity
4.000

2.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000

Page 37 /94

Unit Foot note text
ST

ST
ST
ST
ST
ST
ST
ST
ST
ST



